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module name

exports

requires

module com.mycompany { // L 2& 0|&

exports com.mycompany; // com.mycompany AI&&

requires com.yourcompany; // com.yourcompany At&
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WebFile.class Dobject .class MainApp.class
FileCopy.class Line,class
Filefd.class Rect.class GUI.class
Tools.class // Circle.class EventHandler.class
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WebFile.class
FileCopy.class
FileRW.class
Tools.class

DObject.class
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Rect.class

Circle.class Project/FilelO/Tools.class
Project/Ul/Tools.class
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Main.class
GUl.class
EventHandler.class
Tools.class
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import java.util, ———
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public class ImportExample {
public static void main(String[] args) {
java.util.Scanner scanner =
new java.util.Scanner(System.in);

import java.util.Scanner;
public class ImportExample {
public static void main(String[] args) {
Scanner scanner =
new Scanner(System.in);
}
import java.util.*;
public class ImportExample {
public static void main(String[] args) {
Scanner scanner =
new Scanner(System.in);
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import static java.lang.Math.*; E
“Program FilesttJavatttidll, 7,001, 3
= * . am ec ndowsmsysiem. cmd.exe
double r = cos(PI * theta); ComSger e o Andonseysemiziems
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Computer Name  Hardware  Advanced | System Protection  Remote Uses wansbies o park abstract class Calculator {
You must be logged on as an Administrator to make mest of these changes Yolable Sokvo ) - public abstract int add(int a, int b);// & H=2| g2 50 2|
Pertomance B D el public abstract int subtract(int a, int b);// & 22| Xt& F&}0 2|H
Misual effects, processor scheduling, memory usage, and vitual memary :E:r:, :E:::.l:::.'_:'.‘l:“a..-_-,.....,.-m.‘-.u.u. pUb”C abstract double average(int[] a);// HH%(}” X-IQ-E‘J EI_/'\_gl Tg l_% 1__|.3H Ag'#i |:||_|-§I_
e ™R parkAppDatail ocal Temp }
. class GoodCalc extends Calculator {
) e e public int add(int a,int b) {_return a+b;}
S public int subtract(int a, int b) { returna - b; }
S — o - public double average(int[] a) {
Startup and Recovery Dectinationsfil double sum = 0;
System startup, system failure, and debugging information b for (inti = 0;i < alength; i++)
— 1 sum += alil;
g KecTaDizs o CAProgram s Microsctt SKA Kinect w20, 148 return sum/a.length;
p— MUMBER OF PROCESSORS 4 v
Coromer v ] }
Lo s public static void main(String [] args) {
- — : . Calculator ¢ = new GoodCalc();
anc Apply 3 Camcel

System.out.printin(c.add(2,3));
System.out.printin(c.subtract(2,3));
System.out.printin(c.average(new int [] {2,3,4 }));
}
}
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1 Use default location Creates folders corresponding to packages.
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public abstract class Calculator m
public abstract int add(int a, int b); // S E=° &= 2410
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public int add(int 4, int b) {
return a+h;

1
¥
3
4
v [{] GoodCaljava 5 public class GoodCale extends Calculator
&=
7
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public int subtract{int a, int b} {

return a - b;

1
public double average(inmt[] a) {
double sum = @;
for (int i 3 i € a.length; ies)
sum += alil;
return sum/a, langth;
1

public static void main(String [] args) {
Caleulator © = new GoodCalc();
System.owt println(c.add(2,3));
System.out.println(c.subtract(2,3));
System.owt.println(c.average(new int [] {2,3,4 }));
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protected Object clone()
boolean equals(Object obj)
Class getClass()
int hashCode()
String toString()
void notify()
void notifyAl1()

void wait()
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}

class Point {
int x, y;
public Point(int x, int y) {
this.x = x;
thisy = y;
!

}
public class ObjectProperty {

public static void main(String [] args) {
Point p = new Point(2,3);
System.out.printin(p.getClass().getName());
System.out.printin(p.hashCode());

System.out.printin(p.toString()); 2)(2)|6n;7476
System.out.printin(p); Point@c17164
} Point@c17164

AHE EXEE HE

[

o String toString()

= AN E EAEZ gt

= Object 2220 T2 toString()0| tetdt= FAt

ne

222 o|E@Z M| 2| hash code
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w AN + EAFE -> ‘2K toString() + 2XAE'E AtES Het

Point a = new Point(2,3); Point a = new Point(2,3);

Strings =a + "®"
System.out.printIn(s);

—> String s = a.toString()+ "&";

| Point@c17164% |

MZ2 toString() 2H=7I

w2 System.out.printin(s.toString());

class Point {
intx, y;
public Point(int x, int y) {
this.x = x; this.y = y;
}
public String toString() {

return "Point(" + x + "," + y+ ")";
}
1
public class ObjectProperty {
public static void main(String [] args) {
Point a = new Point(2,3);
System.out.printin(a.toString());

System.out.printin(a); 2t1 sj= S

} } ' Point(2,3)
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o AN A SUE HW == ALK} O
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= boolean equals(Object obj) O &
class Point { Point a = new Point(2,3); c
intx, y; Point b = new Point(2,3);
public Point(int x, int y) { Point ¢ = a; a

thisx = x; thisy = y;

}
}

if(a == b) // false =
System.out.printin(*a==b"); | b Point
ifa == c) // true H

System.out.printin("a==c");

class Point { Point a = new Point(2,3);
int x, y; Point b = new Point(2,3);
public Point(int x, int y) { Point ¢ = new Point(3,4); a Point
thisx = x; thisy = y; if(a == b) // false y=3
} System.out.printin("a==b"); = .
public boolean equals(Point p){ | if(a.equals(b)) // true b Point

if(x == px && y == p.y)

= System.out.printin("a is equal to b"); =
return true; if(a.equals(c)) // false c Point
else System.out.printin("a is equal to c");

ret

urn false;

ais equal to b

OIA| : Rect 222 THE 1 equals() S 7|

class Rect { public class EqualsEx {
int width; public static void main(String[] args) {
int height; Rect a = new Rect(2,3);

public Rect(int width, int height) {
this.width = width;
this.height = height;

Rect b = new Rect(3,2);

Rect ¢ = new Rect(3,4);

if(a.equals(b)) System.out.printIn("a is equal
to b");

}
public boolean equals(Rect p) { if(a.equals(c))  System.out.printin("a is equal

if (width*height == to c");
p.width*p.height) if(b.equals(c)) System.out.printin("b is
return true; equal to c");
else }
return false; }
}
} | ais equal to b
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byte  short int lang char float double boolean
GlolE et
LI Byte  Short | Integer Long Character Float Double Boolean
= EtY
n 28
o S o
= 7|2 EFYO| gt= MEE & Bl MM ME5t= ZHM SO
7|2 EtRO| 2r2 Wrapper 22iA ZHZ S0 ALE

Wrapper 24| 4/d

o 7|2 Ef9| Z+2 QIXtE Wrapper 22iA MM &

Integer i = new Integer(10);
Character ¢ = new Character('c);
Float f = new Float(3.14);
Boolean b = new Boolean(true);

o HIOlH s LIEtL = 2XES SdA ARIZ AL

Boolean b = new Boolean(“false”);
Integer | = new Integer("10");
Double d = new Double(*3.14");

O Floate= double EFQ| 4/2 MAXIe| QXIE AL

Float f = new Float((double) 3.14);
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o 7H& BO| A2 SHE Integer 2229 £ HAE

(U EN= 49
static int bitCount(int i) QIXtig| 0Ele= B0 19| JH-5 2l
float floatValue() float EfRIe = HEE gl 2|E
int intValue() int EtRlo2 HStE 3t o|E
Tong TongValue() Tong EfRS 2 HEHE 2} 2|E
short shortValue() short Etle2 HEIE g} a|sl

static int parselnt(String s)

static int parselnt(String s, int radix)
static String toBinaryString(int 1)
static String toHexString(int i)

static String toOctalString(int i)

static String toString(int i)

Wrapper &-&

0 Wrapper 2N 2% 7|& §|O|H Efg] 2OtL 7|

Integer i = new Integer(10); Float f = new Float(3.14);

int ii = i.intValue(); // ii = 10

Character ¢ = new Character('c' );

char cc = c.charValue(); // cc = ¢’ ||/ bb = true

float ff = ffloatValue(); // ff = 3.14

Boolean b = new Boolean(true);

boolean bb = b.booleanValue();

o A28 7[= HIOlH Efgez et

int i = Integer.parselnt("123"); // i = 123
boolean b = Boolean.parseBoolean("true"); // b = true
float f = Float.parseFloat("3.141592" ); // f = 3.141592

Wrapper &-&

o 7| HolH EtgE 2XtER et
il

/85 1238 EAFE "123" 22
String s1 = Integer.toString(123);

/] 83 1238 16712 EXtE "7p"2 gt
String s2 = Integer.toHexString(123);

/] A5 31415928 EAHE "3.141592"= Hst
String s3 = Float.toString(3.141592f);

/| =X 'a'E ZALE "a"= g
String s4 = Charater.toString('a’);

/] =8 o trueE EXAE "true"2 HE
String s5 = Boolean.toString(true);

OlId| : Wrapper 22 &

public class WrapperClassEx {

public static void main(String[] args) {
Integer i = new Integer(10);
char c = '4";
Double d = new Double(3.1234566);
System.out.printin(Character.toLowerCase('A"));
if (Character.isDigit(c))

System.out.printin(Character.getNumericValue(c));

System.out.printIn(Integer.parselnt("-123"));
System.out.printIin(Integer.toBinaryString(28));
System.out.printin(Integer.toHexString(28));
System.out.printin(i.doubleValue());
System.out.printin(d.toString());
System.out.printin(Double.parseDouble("44.13e-6"));

a
4

-123

16

11100

3

1c

10.0
3.1234566
4.413E-5
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o 2Hd(boxing)
» 7|2 Etol S Wrapper ¥ 2 Hetsts A
o 8 (unboxing)
= Wrapper ZiX|0f £0f Qe 7|2 Efo| Z+HS LY

ghA (boxing)
int Integer ten = new Integer(10); ) !
|
ﬁi 4! (unboxing) - -
int i = ten.intValue();

Integer ZHX|

o JDK 15585 X ¢
o AFS 2H(Auto boxing)
w 7|2 EtQo| IS X522 Wrapper N 2 H

o A& AEH(Auto unboxing)
« Wrapper 4|2 X502 7|2 £} gtoz

Integer ten = 10; // Xt& 4. 10 -> new Integer(10)

inti=ten; // Xt& A t—'.“é' ten -> ten.getintValue();2 Ats A

4_

H ot
3t
oF A5 ury
HEA|
-1 o

Ol H| : Bf A=rdo| of

public class AutoBoxingUnBoxing {
public static void main(String[] args) {
inti=10;
Integer intObject = i; // auto boxing
System.out.printIn("intObject = " + intObject);

i = intObject + 10; // auto unboxing

System.out.printin("i = " + i);
}
}
intObject = 10
i =20
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o String - java.lang.String
= String 22L& SHLe| AEZE HH
// ~EY 2|HERE AEY AH ¥d
String str1 = "abcd";
// String 2§20 YEXS 0| 85t0] ~EF 4

o o
char data[] = {'a', 'b', 'c’, 'd"};
String str2 = new Strmg(data)

String str3 = new String("abcd"); // str22t str32 25 "abcd" 2EF

= String ‘d&Xt

SRt
String()
String(char[] value)
String(String original)

String(StringBuffer buffer)
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m Tt 2| EE M, String s = "Hello”;
JVMO| 2|HE 22|, 38ZZIY YoM 3/ E
m String 2N 2 4%, String t = new String("Hello");

210l String 24X A-d Rl 714 717le) AEY 2lEE HolE

a [ : "Hello®

String a = "Hello"; p g

String b = "Java"; iy

String c = "Hello"; ./'

String d = new String("Hello");

String e = new String("Java"); S

String f = new String("Java"); == g L
e L ] = Java
f *———— C“lava"

AEY M9 FQ 53

o 2EY M= =8 275

String s = new String("Hel1o0");

String t = s.concat("Java"); // AE2! sof "Java"E HEQ AEEIS 2[EHE

r .
“Hello" | s.concat("Java")2| A% Zut
s C0 T asy sk e s
x
t | .—’—>| "HelloJava" |

o ==1} equals()
T AEZS HlWE O HHEA| equals)E AFR3S}0{OF Bt
equals)= W& Hlust7| W2

8 oizal
H =L N = (o |
Strlng EEI'lﬁ TR u'"_+_E T'_'II'E HIE'_
Hac | Mo int compareTo(String anotherString)
char charAt(int index) KIEHE index 2lHlAN Q= 2X} L 2| ] —E—Xl‘% Ol 7E|'2 E 0 El E,_‘I
int codePointAt(int index) AIEE index 2HAN Q= FUIZE &t 2E | &l

S AETS AE £ME J[FOR B, § ASZO| 2o
=] 2|
<

int compareTo(String anotherString) , B AERI0| X|HE As2lHct AFEHo2 HHE| LeH

=p =
String concat(String str) str AERIS BI) ASR] S G20 ASR 3|H
boolean contains(CharSequence s) sOf| RjEE elo| 22 ZEEin 2l true 2|8
int Tength() AEZo| 20| 2|8

String replace(Charsequece target, |targetO| X|EHSl= U9 2A=S replacement?| X|EHS=
Charsequence replacement) 2x5=2 Has A8 2|H

H regexd] YE|Bl= RES SHe2 AELS H25I0

String[] split(String regex) S0)8 AR HI0) TR0 e

String subString(int beginIndex) beginlndex QIHIARE] AZSH= ME AEE2] 2|H
String tolowerCase() AERIS AP HAS A= 2|E

String toUpperCase() AERIZ (HEX|2 HAS AEE] 2|El

string trim() AEZ |0 B ZXISS HPE AEY 2|H

» O] 2XtE0| anotherString ECH AFHO| HAY LIQ™H S5 2
. glEqE-XF%OI anotherString 2Lt AFHO| LISOf| LI S
String a = "java";
String b = "jasa";
int res = a.compareTo(b); Yava” 7t "jasa” STk APEO] LSO
if(res == 0) el e ¢4 ald
System.out.printIn("the same");
else if(res < 0)
System.out.printin(a +"<"+b);
else
System.out.printin(a +">"+b);

|java>jasa |
o Hln AR} === 2A+E H|uof

rr
>
o
mot
>
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concat()2 ME2 EXIE2 MM

o+ MRt 2XHE A
w + LS O HLERIO| ZXHEO| A= B2
o+ QAN AH7E EBE|O s FS
K .toString() S =%t M E 2Atgz Hetot & ZXAHE HZ
712 BtY 2 2AER BEtE 20| 2

System.out.print("abcd" + 1 + true + 3.13e-2 + 'E'+ "fgh" );
// abcd1true0.0313Efgh =3

o String concat(String str)E O| 8%+ EXAtE A&
"abcd".concat("efgh");
// "abcdefg” 2| H
= 7|Z& String AM 0 HZAEX| R0 M2 2ET K| 4d

2| &

"abcd";
"efgh”;

String s1
String s2

Sl% abcd

s1 = s1.concat(s2);

sl abcdefgh

abcd

=X e S HA, 2XtEe| 4 24 2

O™l : String 22iA HAE

it
olo

o S XA
= String trim()
22X o Fl % EXl(tab, enter, space) M7 Xt 2| H
String a = " abcd def *;
String b = "Wtxyz®#t";
String ¢ = a.trim(); // c = "abcd def"
String d = b.trim(); // d = "xyz"
o 2xgol 21t
= char charAt(int index)
ZXE el EA4t H2

// "class"0l Z&E s'Q| =5 Me ZE
int count = 0;
String a = "class";
. // alength()= 5
String a = "class”; for(int i=0; i<a.length(); i++) {
char ¢ = a.charAt(2); // c = 'a' if(a.charAt(i) == 's')
count++;

}
System.out.printin(count); // 2 &3

rir

public class StringEx {

public static void main(String[] args) {

String a = new String(" abcd");

String b = new String(",efg");
/] 2Xg o

a = a.concat(b);
System.out.printin(a);

/] S KA

a = a.trim();
System.out.printin(a);

// 2XHE THX]|

a = areplace("ab","12");
System.out.printin(a);




Ol : String SellA HAE &

/] =XE 22
String s[] = a.split(",");
for (int i=0; i<s.length; i++)
System.out.printin("22[& " + i + "H XS " + s[i]);

/) NEB AE-
a = a.substring(3);
System.out.printin(a);

/] 2REQ| ZXt
char ¢ = a.charAt(2);
System.out.printin(c);

‘ a = new String(" abcd");

‘ b = new String(",efg");

a = a.concat(b);

e ]s]

a = a.trim();

o —{afv]cfaf.|eff]s]

‘ a = a.replace("ab", "12"});

String s[] = a.split(",");

| s [fem— {1 [2fcaf. [e]7]s]

‘ a = a.substring(3); ‘ a

‘ char ¢ = a.charAt(2); ‘ El

StringBuffer 222

O java.lang.StringBuffer
= 2EYN S| AN 4Y = 2EY U ¥E Tts
= append®l insert HAEE S AEZ &
= StringBuffer ZiM|2| 37|= AE& ZO[0f et 7HHT
o &Gt

|Str|ngBuffer sb = new StringBuffer("java"); |

stringBuffer() 7| S| 37|17} 162 AEE i 2Hx]| M
StringBuffer(charSequence seq) seq7t AIESIS UTO| DAISS HEEH= AS B A
AEE £7) 37|18 R AEY BiH M4

StringBuffer(int capacity)

StringBuffer(5tring str) AEE AERCE X7|S1E AEZ HI A4

StringBuffer T2 HAE

StringBuffer append(String str)

StringBuffer append
(StringBuffer sb)

str AE2IS A2 HIHo| G22I

sb AEE HIHE SIS AEY HHH| SEQUCE 0] F1h B3 A
Egl 82| LHZ0| Mt

int capacity()

StringBuffer delete
(int start, int end)

3 AE2 Hmel 37| 2|d

start £{X|0ilA end7} X|HGl= 2412 LI AEE HIAH

StringBuffer insert

(int offset, String str)
StringBuffer replace

(int start, int end, String str)

str AE2S AE2 HIO| offset $IE|0] A

AEZ B 2] start?t X|HGl= 2XI2E end?t XIHS= 41
A9 ME AEZS str2 X

StringBuffer reverse()

void setlength{int newLength)

LB Y LS| 2AtSE P =M= HE

AEY B L XIS ZO|Z newlength= AHE, S 2o|=ot
2 32 9 X 0| Fe FRE 7IE EXiZo| ZrIch




StringBuffer2| ML E-& 0f

O™l : StringBuffer 22{A HAE &

=
. StringBuffer sb = new StringBuffer("a"); ] sb [ .—l n- a |
sb.append(® pencil®); sb| @——= a ple|nic|i|n
[ sh.insert(2, "nice *}; ] sb. .—l——- a n|i|cle p e n|c

| sb.replace(z, 6, "bad); | o @ ’ ‘:

sb.delete(D, 2); sb bla d pleln|c| i
sh.reverse(); sb?—-—l ilc nle-p' Id‘a'hl
int n = sbh.length(); n=10

.mrc-sb,chamtm; . sb | .—l w1 c'n:e_pl :ﬂ;alh:

StringBuffer 2222| HAE S 0|83 2AES ZA5t= O & 20Xt
CIS ACo| AldH Zap=?

public class StringBufferEx {
public static void main(String[] args) {

StringBuffer sb = new StringBuffer("This");
System.out.printin(sb.hashCode());
sb.append(" is pencil"); / #XtE H&0|7|
System.out.printIn(sb);
sb.insert(7, " my"); // @ AtE &Y
System.out.printin(sb);
sb.replace(8, 10, "your"); // &Xt<& CHX|
System.out.printIn(sb);
sb.setlength(5); // 2EE HIH W 2Xxtg Z0| 273
System.out.printin(sb);
System.out.printin(sb.hashCode());

StringTokenizer 222

StringTokenizer &2 HAE

O java.util.StringTokenizer
» TE EAE VIELR ZAE E2
o =AEE FEE I A8ElE EAHE FE EXAHdelimiter)2t 2

String query = "name=kitae&addr=seoul&age=21";
StringTokenizer st = new StringTokenizer(query, "&");

= 212 oo M ‘&7t = EXF
= EZ(token)
L 1E 2xtz 225 22Xty
= String 22 22| split) HAEE 0| 8510 &Yt ++a 7t

olr

o StringTokenizer 248Xt

StringTokenizer(String str) str AE2I0Z NSt A2 ESLI0|A MM

StringTokenizer(String str, String

delim) str AE20}delim 72 2X2 NG AEZ E3LL0|H M

str AE21} delim 2 BAIR OpASH ASE] £5110|F A

StringTokenizer(String str, String
2} 1ims 7} trued | delimO BlE| 27X 2
delim, boolean returnDelims) f;ﬂ'z:"”"e R
[= =) .

int countTokens () AEE EJLI0|H| ZEE E20| s alE

boolean hasMoreTokens () AE= EJU0|A ChF E30] 312™ true 2|H
String nextToken() s B2 2ld




StringTokenizer Z4X| A4/d 1}

Mo

XIE8 =&l

String query = "name=kitaefaddr=seoul&age=21";

StringTokenizer st = new StringTokenizer(query, "&"); st IE'—»

StringTokenizer st = new StringTokenizer(query, "&"); st IE'—>

OlXl : StringTokenizer 2ciA HAE 28
'BUAE/E/BH/ZF/EFENE S/ E T2 EXIE 50
£22 2alsiof 7 =22 Hasl

StringTokenizer ZHH|

i

"kitae"

i

"addr"

i

1seoul”

i

npn

i

i

import java.util.StringTokenizer;

public class StringTokenizerEx {
public static void main(String[] args) {
StringTokenizer st =

new StringTokenizer("8 2 &/&e/Z 8/ F/2F", "/

while (st.hasMoreTokens())
System.out.printin(st.nextToken());

StringTokenizer ZHi||

Math 22

o 7|22l thg Aits +dSs HAE HS
® java.lang.Math
» BE HAEE staticCE MA
= A 0|ECR HIZ & Jt5
dias ] o2

.statl: double abs(double a)
static double cos(double a)
static double sin(double a)
static double tan(double a)
static double exp{double a)

static double ceil{double a)

static double max(double a, double b)
static double min{double a, double b)
static double random()

static double rint(double a)
static long round(double a)

static double sqrt{double a)

24 22| FoE) 2

. a4 a2 cosine 4t 2IE
4l4= a2 sine Zf 2|

. 44> a2] tangent gt 2|E

o' gt 2l

A4 aliCh AL B2 4 SoA TFE A2 HeE A

= Efgles 2|
FaabBM 24 aH
54 a, b B0IM B2 4 2|8

0.05CH 3 7Lt &3 1080 22

Rje] Al 2IE

RIS d4 a0l 7R 28t W8 d Bl 2g

A% aff 24 200 XI2I0)A YR 48 long B

o Uiy

a4 a8 HE2 2lE

A, HEF
L

ro

Math 222 E =28

o th 2
= static double random()

o 0.0 O[4 1.0 O|2+2| 29| double afZ Htet
o 00| A 100AH0[2] H4= = 1071 A7|& ME I =

for(int x=0; x<10; x++) {
double d = Math.random()*100; // [0.0 ~ 99.9999]
// dE B2 85t H2 et [0~100] AHO|2] Ha=
int n = (int)(Math.round(d));
System.out.printin(n);

}

AlA H
SRR

o 912l AE0|N round() HIAE = Math. round(55.3)2 55.02
2|

B350, Math. round(55.9)= 56.02 2| &

= java.utilRandom Z2fAE O|ESHH F O CiYct HEIZ Ha

2 7ts




O | : Math SciA HA

In
o
oo

Calendar 222

public class MathEx { 2.78987434

public static void main(String[] args) { -2.0
double a = -2.78987434; -3.0
// Bt F547] 3.0
System.out.printin(Math.abs(a)); 4.4816890703380645
System.out.printin(Math.ceil(a)); // ceil 3.0
System.out.printin(Math.floor(a)); // floor | O|&HF S 29| M= 35 42
System.out.printin(Math.sqrt(9.0)); // Ml&{ 18 31 33

System.out.printin(Math.exp(1.5)); // exp
System.out.printin(Math.rint(3.141592)); // rint
// [1,45] AtO|Q| Tt 2l
System.out.print("O|HF H22| Hz==");
for (int i=0; i<5; i++)

System.out.print(Math.round(1 + Math.random() * 44) + " ");
System.out.printin(" & LI Ck");

o Calendar 2229 £
= java.util Z{ 7| X|
m AlZEOF SR HE 2|

H, 2 Y 89 Azl & X HEX N 25 &
Calendar 2222 Zt A2t QA E HSHI[L LOotLY 7| 2ot
zes
oc 2|o| BE 20|
YEAR (ET= DAY B o] Lt
MONTH = DAY _OF WEEK 8t o 2
HOUR 0-11A|2 B33 A7 AM_PM DFEIK| 2F20| =
HOUR_OF DAY 28A71S T|ESE Bt AIZE | MINUTE 5
SECOND ES MILLISECOND FTEIES

Calendar ZiH| 4/ S1 S} A|Zt

OI¥| : Calendar® 0| 8310] BT} LRIt A2t
£ 9 4™

o Calendar ZiA| MM
= Calendar now = Calendar.getinstance(); 0|-&
nowZiK|= S Rt A7 HEE 74X MY
Calendare =4 20|22 new Calendar() SHX| &2
o AXY R AZE
int year = now.get(Calendar.YEAR); /N EE
int month = now.get(CalendarMONTH) + 1; // &% &
o ZRet AlZE S|
w L7F B2 It AlZHS CalendarZ{M|E 0| 2310 X%
Calendar ZHX|0f] SRt A|ZHS HHBICID A AREHO| &
HH= A2 OfE -> AFHC AlZtot ERE B = CHE
// 01d X7t SO Z HO|ESH IMet AlZH HE
Calendar firstDate = Calendar.getinstance();
firstDate.clear(); // S1Xf EWQ} A7t HEE B F XLt
firstDate.set(2012, 11, 25); // 2012d 12 252, 12¥€2 M2 44
firstDate.set(CalendarHOUR_OF_DAY, 20); // M4 8A|Z M
firstDate.set(CalendarMINUTE, 30); // 30222 A

import java.util.Calendar;
public class CalendarEx {
public static void printCalendar(String msg, Calendar cal) {

int year = cal.get(Calendar.YEAR);
// get()2 0~307HX[2] F== 2| H.
int month = cal.get(CalendarMONTH) + 1;
int day = cal.get(Calendar.DAY_OF_MONTH);
int dayOfWeek = cal.get(Calendar.DAY_OF_WEEK);
int hour = cal.get(Calendar.HOUR);
int hourOfDay = cal.get(CalendarHOUR_OF_DAY);
int ampm = cal.get(CalendarAM_PM);
int minute = cal.get(CalendarMINUTE);
int second = cal.get(Calendar.SECOND);
int millisecond = cal.get(Calendar.MILLISECOND);
System.out.print(msg + year + "/" + month + "/" + day + "/");




OIA| : CalendarE 0|&95}0] Sxf WL} Al7t O™l : CalendarE O|835}0] Szl ZWet A7t
=2 gl MAS}7| &3 g9 d4d57|
switch(dayOfWeek) { public static void main(String[] args) {
case Calendar.SUNDAY : System.out.print("2 8 2"); break; Calendar now = Calendar.getinstance();
case CalendarMONDAY : System.out.print("& 2 2"); break; printCalendar("# X *, now);
case Calendar.TUESDAY : System.out.print("2t2 ¥"); break;
case Calendar WEDNESDAY : System.out.print("=2 2"); break; Calendar firstDate = Calendar.getinstance();
case Calendar.THURSDAY : System.out.print("S 82 &"); break; firstDate.clear(); L N
case Calendar.FRIDAY: System.out.print("2 2 2"); break; // 20123 128 252, 1282 EHHSH7| 28] montho 112 47
case Calendar.SATURDAY : System.out.print("E22"); break; firstDate.set(2012, 11, 25);
} firstDate.set(CalendarHOUR_OF_DAY, 20); // X9 8A|
System.out.print("(" + hourOfDay + "Al)"); firstDate.set(CaIendar.MINUT__I_E, 30); // 30&
if@mpm == CalendarAM) System.out.print("27"); printCalendar("X{& HIO|Egt &2 ", firstDate);
else System.out.print("2%"); }
System.out.printin(hour + "A| " + minute + "& " + second + "X “ }
+ millisecond +"22|&");
il 2012/12/27/=2 2 L (20A) L= 8A| 22+ 282 8892 2| =
NS HO|EsH £2 2012/12/25/3t2 L(20A) 2 S 8A| 302 0% 02X




